Addition bis 100 (horizontal)

Name: Datum: Ergebnis:
2+ 84 = 54 + 88 =
35+10 = 50+5=
2+71 = 47+ 13 =
64 + 74 = 56 + 50 =
29 +47 = I8+3 =
83+71 = 04 +3 =
68 +37 = 81 +56 =
38+ 87 = 43 + 90 =
86 +40 = 3+91 =
79 +91 = O+2=
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T E K

Addition bis 100 (horizontal)

Name:

2+84 =286

35+10=45

2+71 =73

64+ 74 = 138

29 +47="76

83+71 =154

68 + 37 =105

38 +87 =125

86 +40 = 126

79+91 =170

Datum:

54+ 88 =142

50+5=155

47+ 13 =60

56 +50 = 106

18+3 =21

04+ 3 =097

81 +56 = 137

43 +90 = 133

3+91 =94

9+2=11
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Ergebnis:
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